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PART - A
GENERAL ENGLISH
(Marks : 25)

Identify the correct sentence,

(1) T am hearing some noise,
{2} 1 hearing sume noise.
(3) I here some noise.

{4} | hear some noise.

[ purchased a book. It costs rupees hundred.

Choose the sentence you get when you combine the two sentences,
(1} I purchased a book while it costs rupees hundred.

(2} 1 purchased a hook which costs rupees hundred.

44) 1 purchased a book when it costs rupees hundred.

(4) I purchased a book as it costs rupeess hundred,

Choose the correct sentepce from the following:

(1} Shiva will eaten the mango, (2) Shiva was eaten the mango.
(3} Shiva has eaten the mango, (4) Shiva is caten the mango,
This is useful form of activity.

Choose the appropriate word from the following:

(1) a (2) an (3} the (4) any~
Preparations are being made for her marriage by her parents.

Choose the correct active construction sentence.

(1) Her parents is making preparations for her marriage.

{2} Her parents make preparations for her nuTiAge.

(3) Her parents are making preparations for her marriage.”

(4) Her parents are being made preparations for her marriage,

The proposal was denounced by one and all. Give the antonym of the underlined word.
(I} announced {2} pronounced (3) appraised {-ﬁ commended

[PT.O.
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We sat the tree (o rest. Choose the correct word to fill the blank,
(1) among {2) under
(371 below {4} up

He was profusely talented. Choose the correct meaning of the underlined word.
(1) abundantly.: [2) dearth
(3 limitation (4} enough

Read the following passage carefully and answer the questions.

Mahatma Gandhi believed that industrialisation was no answer to the problems that plague the mass
of India's poor and that villagers should be taught to be self-sufficient in food, weave their own cloth
from cotton and eschew the glitering prizes that the 20th century so emptingly offers. Such an wdyllic
and rural paradise did not appear to those who inberited the reins of political power.

Fill in the blanks choosing appropriale answers.

According to Gandhi, can be mmed into dyllic and rural paradise’.

1) village, (2) town (3) city {4) wrban area

Gandhi's views opposed industnalisation of village because

(11 1t would affect the culture of Indians,

(21 it would help the poor and not the rch.

(3} it would take away the skill of the villagers

4] it would undermine self sufficiency and destroy the beauty of life of the villager.

Gandhi's dream of an idyllic and rural paradise was not shared by ____
{1} those who believed that villages should be self-suflicient.

{2} those who called him the Father of the Nation.

{3} those who inherited political power after independence.”

(4} those who didn't believe in the industrialisation of the country.

The basis of an idyllic and rural paradise s
(1) rapid industrialisation of villages.

(2} self-sufficiency in food and clothes and simplicity of life style.
(3} bringing to the villagers the glittering prizes of 20th Century.

(43 supporting those holding powertul political positions.



13,

14.

15.

16.

17.

18.

3

The meaning of 'the glittering prizes that the 20th Century so temptingly offers' is

(1) pursuit of a commercialised culure () absence of violence and corruption
(3) replacement of rural by urban interests (4) complete remaoval of poverty

Do you know how 1o write essay?
Choose the right word 1o fill the blank.
(1) a (2) an {3) the (4) one

We have arranged
Complete the sentence using appropriate part of the sentence given below:
(1) for someone to look after the dog nexi week.

(2) someone to look after the dog next week.

(3) te look afier the dog next week for someone,

(4) looking after the dog next week for someone.

Which of the following word is wrongly spelt,

(1) comprehensive (2} unwholesome
(3} rusticale (4) priscribe
Identify the pair of words that rhyme with each other.

(1) shine : line (2) glee: gay

(3) brecze: lie (4 vales : hills

He is poor. He is honest.

Which of the following is the right sentence when the above sentences are combined?
(1) He is poor not honest.

{2y He is honest bul not poor.

(3) Inspite of his poverty, he is honest.

i4) His honesty made him poor.

He said to the boy, "Are you coming?"

Which of the following is the right way of reporting the question?
{1} He told the boy were you coming.

(23 He asked the boy if he was coming.

(3) He asked the boy was he coming.

{4) He wld the boy if e was coming.

[FT.0.
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They haven't gone to the temple.

Choose the comrect question fag to the sentence.

(1) Hasn't they? {2) Haven'tit?
(3} Are they? (41 Have they?

Fill in the blank with appropriate word from the following.
Auden's poetry is infused ____ humanistic feelings.

(1) on (2) with
{3) in i4) for

The teacher said 1o the boy, "Get out of the class”,
The above sentence can also he expressed as:

(1) The teacher said to the boy 10 go out of the class.

(2) The teacher exclaimed that the boy should go out of the class.
(3) The teacher ordered the boy to get out of the class,

(4} The teacher requested the boy 1o get out of the class

Identify the grammatically correct sentence.
(1} He doesn't jump to hasty conclusions.
{2) Share the dinner among vou two.

(3} She has been written a book.

(4) Iam tired with writing 1o him,

The eyes are galled the windows o the soul.

[dentify the parts of speech of the underined words.

(1) Noun, Adjective (2) Verb, Adjective
(3) Verb. Noun (4) Adverb, Adjective

Very few cities in India are so big us Chennai.

The above sentence can also be expressed as:

(1) No other city in India is as big as Chennai.

(2) Chennai is bigger than most other cities in India,
(3) Chennai is biggest city in India.

{4} Chennai is not the biggest city in India.



27.

24,

7

PART-H

GENERAL KNOWLEDGE

{Marks : 25)

Manmohan Singh has been honoured with a degree of Doctor of law by

Syl kefl b b o AR TE20208
{14 Oxford University

eshob J8lemeate Hofid T Dorease
(3) Harvard University
Teh Eglonecie 35 Salnb dorealo

Relance Cup is associated with which one of the following?

Bocing 5% &0 1328 538 802 Sopafolna?

(1} Hockey (2} Foot Ball
ol s

{3} Crnicket (4} Tenms
EER S

Ecology deals with ane of the following:

Sorgtee B Bod Tld Lol RoeofedBd

(1) Relanons between orgamisms and their environment
Epe Te) 10R0o J0d Ronegres

(2) Birds

(2 Tissues

4y Animals
eEodoss

Which of the following is present in hard water?
sropoind’ S 308 TUE 08 doewod?

i1y Aluminium (2 Soddiom
LU g e lev i)
(3 Chlorine {4} Calcium
£8d oo

(2) Cambndge University

{4) West Minister University

[PT.O.
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Night blindness is caused by lack of which Vitamin?

2 De:dad BEn AT dodeo Sei DAL Sip?
{1} Yitamin B {2) Vitamin A (X ViaminC (4) Vitamin D
D003 B DeaioS A s C LI D
The biggest planet is
wd g PR
(1} Jupiter (2) Venus {3) Mars (4) Mercury
wrabsb 3% =5 ot B
Aryabheatts was a renowned
el o8 Bl
(1) Mathematician (2) Poet (3) Physicist (4) Doctor
felorgig e ooy B
Who was the founder of Mughal Empire in India?
LEBRHo i Firpo Apbodia Jnen
(1} Akbar (2) Bahadur Shah Jafer
st edErd I anh
{3) Beber (4) Humayun
ek Srossalrd
Alexander Fleming discovered
sdrpoul Phoof Simes
(1) X-Ray {2) Television
&3 e302end
(3) Computer (4} Pencillin
Soryesh vHoE
The Indian Financial year commences from
G efs Sothoin dhuogriadia
(1) Janvary Ist (2} April st
B 1 g 1
{3) March 151 (4) July 1st

a7y 1 e 1
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The classical dance of Andhra Pradesh is
o EOF ol Bt
{ 14 Bharata Natyam {2} Kuchipudi
EHEAS it SrIeird
{3} Kahakali (4} Mohini Attam
EpEv WL egs
International Litecracy Day 1s observed on
ot Ol wgoe Sus Tdoleld
(11 Seprember $th 121 Seprember 1(ih
- el B g psed 10
(3} March 8th 4} October 24th
STy 8 Lo 24
Wha s the winner of Women's Fool hall World Cup 20017
2011 Soutisn Bued 8% uelrdy pudderd 188 Joosy
(17 England !.?] China
FoTT oo o
(3) Japan {4) Germany
grS L
According to the Census 201 1 which of the following has the least population?
2011 esties gisrde & 3ob o) e BEn D e S0l 207
(1) Puducherry (2 Daman and Dia
olind e DoO0lss dolio
(3) Laksha Dweep (4} Dadra and Nager Haveli
5 ot oS Sebat: b SR8
Who was the chief guest of Republic Day 20127
2012 Soud B3E BTty Doy 3D J500
(1) Yingluck Shinawatra {2) Ban ki Moon
ok e 7 3 SoFe
(.3} Hu Zintaw {4) Dimitn Medvedey

e TS Ao Wl S
[PT.O.
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While introducing a new topic or lesson, the teacher should begin with
b8 5 aronoitioie (54 Dapdpas edrpraing: S35 Procfonna..
{E} an over view of the subject matter.
IS S Dnend’
(2} the related knowledge of the lesson already possessed by the student.
Fregorid Soeofolh I S MR

(3) the teacher's intzrest in the subject.

& Srepiioibed’ ddrmaind edind

{4) an explanation on the importance of the subject matter.
PSSO Eringiis D880t

Which of the following professions claims the largest membership?
& 2ol Syied” A" 25 3 Seieuaig
t1) Engineering {2) Law
OO g TG
(3) Medical (4) ;I'Ml:hing

2553 ST Hyd

What mukes teaching a e profession?
755 D8 Delon My Sigoder
(1} an attractive salary
esstelaiaes does
(2) along period of training
0BG g

{3) discipline of its members

&35 eine EEudgm
{(4) teachers’ professional organizations

&grotl Xy Bojiren
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The teacher's primary responsibility is:
{1} Promoting human relations with parenis.
Jtpe BESoEheE SN owotres edrobotixt
(34) Planning educational experiences.
Demysegimeo Eerddsbotion
(3} Keeping class room records.
{4} Implementing administrative policies,
e Dy exdbotaw

A good teacher
28 Sood) &0

(1) has sell satisfaction.
iy Rotin JRotN
{2) gets the honour of the parenis.
7 oe BESehbe Mod TES Motes Jodii
(3) will have good companions.
Soend) B Sl Jredsh
(4) Possesses good students.
e ﬂaﬁeﬁ; osiats

The most appropriate meaning of leaming is:
weirinso dla), ool S efo Jhwm
(1} personal adjustment

aﬁﬁa tigeress
{2) modification of behaviour

E0gd’ sty
{3 aguisition of knowledge

g sl

(4} development of skills

VTN

[PT.O.
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47, If majority of students are backward in your class. vou should

48,

49,

al),

Q BENOE" 25,5 Beel Iorgives Diktnd dijacsd, Dy
(1) reduce your speed of ieaching.
S 'ﬂﬁﬂa Blowd
(2) mot care about it as bright students suffer.
DI Jorgtes erfiBEond S ol D), Delese
(3) bring change in the language style.
X FBT SreinEino,
(4} keep your teaching slow and provide additional activities 1o hright students.
oo EEng, 3835 T8 el o ST
Good leaming is a function of:
5000 egkiarld oo «
(1) Principal's leadership and dynamism (2 availability of modern communication devices
T e TPOlEBe Sedatin PG’ e TED B0 Bt wodiares
(3) teachers' dedication and interest (4} teachers’ scholarship and rescarch
EITEoe 6ol g Sl ek CTyaiee Sradie Yobuks H0TD
Teacher's performance can be rightly assessed in terms of:
EFTTgolal ST5E Y, AL Rem ot St
(1} Marks secured by the students,
MPetipoe TRedR BTG 1)
(2) The quantum of modification in the stindent behaviour.
Dorge @RS B0 Juotho ST el
(3) Swdent - teacher relanonship,
-:)Fg%cﬂ -:.3'1::'3:;:;1:.'.'3 PR ) e:g
(4) The speed with which the teacher completes the sy llabus,
edgpaine: ederdio Frodng Ty el

Complete silence in the cla<s room is an indication ol
BUNG DS Y8 SEert Brdsda ;

(1} good teaching (21 class room management
Soodd &5 ¢ DENS T
{3} fear of punishment (4) lack of inlerest

Hodihed gas ey irRes e

=
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PART-C [Marks : [(X
GEOGRAPHY
{Marks : 35)

Who propounded the theory of continental drift?

POCLEH DT BH6B0lE TG I35

(1) Bowie (2) Ritter {3) Wegener (4) Humbaoldt
eh o6 Dessb o

In the context of proposing the theory of Isosiasy the view of *2 uniform density with varying thickness’
was proposed by

S B30 Ropoordy FII0D Hotghed’ ud MO Fogss’ 205, Sties ef e,
Pt A wgfg

{1} LH. Prant {2} Sir George Everest
IH. g8 w5b erf 2505

{3) Hayford (4) Airy
b be

The Metamorphic Rock formed from sandstone is
Fif oo Soed DEAN drdestle T

(1} Quarzite (2) Slate
-
b @ed 25 (Sesoron)
(3) Marble (4) Granite
e sl roed

The fastest travelling earthquake waves
0 e Godselad giree BSomren

(1)} ‘P-waves {2) 'S-waves
‘P -sdomres STy
{3 'L-waves (4} 'E-waves
L-Bdermas ‘B'-ttiorres

[PT.O.
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The Lava with low percentage of silica is called

BEySrde e BN Songa ) (o) BOL T,

(1) Magma (2) Acidic lava
STy 50 Y

(3} Tephra {4) Base Lavg
Qi o= Ry

Which of the following landforms is formed by Glacier?

T BolarDE IPmonkies By Sei Deds givarte DA

(1) Yardang (2) Mushroom Rock
cxrfcroh ' o TG e -
3) Moraines (4) Spit
2ogdus L

Plains formed in limestone regions are called -

(1) Karst Plains {2) Allavial plains
28, Toomes 4 Doy e

{}) Peneplains (4) Caleiplains

Which one of the following is not an inert gas?

2 308 T pETceh T T

(1) Neon (2] Helium {3) Krypton {(4) Hydrogen
Do SrEamne s el

The instrument used 1o measure atmospheric humidity is
TENOe e Gl FosarDl esdonod Dostc

(1} Hydrometer {2} Hygrometer
PE ek b
(31 Opisometer (4) Anemometer

tonfisest eardsel



60. The temperature at the boundary of the Troposphere (Tropopause) is lowest here.
W5 e300 OIS (5'FIE) 81 Groted’ 6O By AR dotiod

&1,

62

(1) Above the equator
e Soto s
{3) Above the temperate areas
ol Steotes bh
Which one of the following is not a cold Local
T dodarnd’ Srodal Se 530 06 Ban

{1} Santa Ana .
ot e

{3} Bora
S ¢

L]

)

(2) Above the poles
¢L'-,.;“.>,..-:x..“ vl ;_m

i4) Above the 75° Latitude
75° e} -

wind?

(2) Mistral
o

(4) Bhizzard
Ly

e L

The type of precipitation that occurs when a mountain range acts as a barrier 1o the wind flow is

STRINFIRINE EDT SOl dipii Dk e o

(1) Convectional {2} Cyclonie
donrn ! SETE

{3) Frontal (4) Orographic
oy o0

In Koppen's Climatic classification 'Desent Climates’ are

End BEEGS sGused® 28 S8R R00 —  — iclsed’ nrad,

(1) Dg = {21 Am

{3) BW (4) ES

Which one of the following is a warm current ?

S o6 dg i AT

(1} Falkland Corrent (2) Tsushima Current
TEral pomro RGP T .-

(3) Benguela Current {4) Canaries Current
Dorbder Frro E‘E.‘-:uﬁ i o=

[PT.0.

i A



63.

67.

68,

70,

16

represents siliceous poze,

& dolmis’ 208t GrSe 2pdd Bolisa,

(1) Diatorn {2) Globizerina (3) Preropod (4} None of the ahove
Beston Rbhabr Soré - 2Teds® o8 ;e

The largest coffee producing country in the world is

Plotind’ sofsor % st s Huse,

(1) India (2) Brazil {3) West Indies {4} Thailand
Rodalry Eed 2% 30df growerol

Name the country which is highly urbanized in the world

ERonmnd" 28,3 Zrfstes oo, 3450

(1) Australia (2} Japan {3) Britain (4) South America
e s B Des &6 wlobs -

Soft wood is mainly supplied by

B0 CRECY) S efotd

(1) Coniferous foresis (2) Deciduous forests
w == Hﬁ.‘lﬂ% e hen

{3) Mangrove forests (4} Mediterranean foresis
a3 wepes BT e

In which of the following regions, Rice is the most unponant crop

54 200706 2 Srobiciiol 56 Huagiod Toe

(1) Tropical Monsoon region {2} Mediterranean region
sl b R Soghlor redic

(3} Equatorial region (4} Temperate region
o Sodde Srose 0BG Srebo -

The leading producer of bauxie is

E5el 6808 eyl

(1) Canads i2) USA
e evnoe

{3) Australia (4} India

ﬁ:ﬂﬁlﬂlﬁ‘ A '
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Denmerk is famous for

Gessrby, B33 g
(1) Ship building industry (2) Paper industry
T Dty 58S NG SoFn
(3} Automobile Industry (4) Dairy and Agro based indusiry
TR SO SESEpe, Sparab S0gss
Which country produces maximum steel in the world ?
GRS i) eond Somn Senas
(1) Japan , (2) USA
o , wdols
(3} Australia {4} Canada
e Eonr Rl ey

Name the highest peak in South [ndia

C3r 1706 Daod’ 20 SU5B S0

(1) Doda Bera (2 Gudbur
Seee oz

(3 Anaimudi (4) Mahendragiri
N S0.FoSRD

Which one of the following rivers does not form a delia?

&t S0l 3 50 By Soven Hands

(1) Cauvery {2) Mahanadi (3) Tapu (4) Godvari
3" i [V R0

Which of the following states receives most of the rainfall duri ng the retreating monsoon season?
ol ol MBI elitolfte B sreod’ Sy 3 Bginte Seualy

(11 Andhra Pradesh {2} Punjab
e EOd Soered

{(3) Tamil Nadu (4) Kerala
B s £

[P.T.Ch
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As per 2011 census, the state with highest sex ratio
2011 exrap B o (S500 sibgh St D (Dol 2pd) Ne oge

(1) Kerala (2) Karnataka {3) Haryana (4) Tamil Nadu
. ST By B T

In which part of India, Tank irrigation is popular
et B¥od® D @rodod’ Do e NHSe wfEam Achi?

(1) Deccan Plateau {2} MNorth Indian Plain

{3) East Coastal Plain ‘ (4) West Coastal Plain
By 6 Erotisar Shyto &0 Tovo

Korha coal field is in

S'op 67 Beres 3sya ae

{1} Andhra Pradesh  (2) Bihar {3} Maharasira {4) Onssa
wor S0 b - R g EBT

Mangrove vegetation in India is most extensively found along the coast of
ot Dod” 8+ &0 Proded” Sadecpes IGaT d&Tom,

{1) Rann of Kutch (2) Orissa
£5 98 @robo e85 St
{3) Malabar {4) Tamil Madu
Semerd oo - B¢ e

The highest per hectare yield in Tobacco is found in
TS 150 T B8 Bibed e Mﬁﬂ“ﬂp

(1) Maharastra (2) Andhra Pradesh
:l-.};b"c"a, ey (8L
{}) Tamil Nadu i4) Untar Pradesh

Sl ks + SHOEDE



81,

82.

LER

19

Which one of the following is an cquatorial country

(4) Kuwait

=y

APSGlnd iy S

(1) Malaysia {2) Myanmar
Sodlpr Boanmb

{3} Philippines {4) Indonesia
AR oS hhotn

Tignis and Euphratis flow in

SIS oBaio aXoihed Mty EStrotnsd

(1) Irag . (2} Iran
=k, T

{3) Pakistan {4) Afghanistan
S ST

Among the middle east countries which is the leading producer of oil ?

G iy THoond $500Ch &oyas” eyiTy

{1} Irag (2} Iran (3) Saudi Arabiz
305 30 & slibarr,

Which one of the following is known as 'Roof of the warld' 7
&1 fc0 08" B0 PRodp Sy eoardy

{1) Himalayan Range (2) Pamir
el groes e oy

(3) Arctic Asia : (4] Morth Pole
ety )8 eshatr SIS e

The chiel mineral extracted in Brunic is

RopE Secgeoll ofols plec

(1) Iron ore (2) Tin
WSS pleso B,

{3) Coal i4) Oil
I'F-F:? e

|PTO.
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86. Mesolithic people used

48,

{1} Iron tools
T S

{3} Bronze iools
Eodo qh.",a.,:uwlg

20

HISTORY
{Marks : 30

Sl Beratoty Eems S SSErRoDd.

(2) Small stone tools
Dy O SSasdas
i4) Copper tools
oS o D060 f

Harappan civilisation was discovered in the year

S8 __ &° o FIRsE ShTNedsa.
(1) 1910 (e’
(3 1911 4y 1931

Vardhamana Mahaveera belonged to

g Setidd
(1) Yodava
AT
{3) Inatri Kshatriya
£ goab
Megasthanes wrole
o5t @S Podto
(1) Travels
e

(3} Indica
08T A

clan

(2) Arya Vaisya

w05 0%
{4y Brahmana
,r.-“:.“-*&r; =

{2) Naganandam

Pegiirala’miky
(4} Memoirs

Aok,
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Capital of Satakami-T was

ot TEER oot ol

(1) Varapi {2} Manyakhat

(3) Kalyana (4) Pratishtanapura
Heryes il

Samudragupta's Allahabad pillar inscription isin language
RENEIOET eoiferds Segariiis B Rornd.

(1) Prakrit (2) Sanskrit
lﬂ‘ﬁéﬁfaﬂ = ﬁﬁb‘]ﬁm =
(3) Magadhi {(4) Hindi
BING arod

The first Muslim ruler of Delhi was
¢ B0 2rBolis Bussed s soba Fomes

(1) Hurmish (2) Qubacha
ool ergy -
(3} Yalduz (4) Quibuddin Aibak

In the year the second battle of Tarain wok place
B% & Do 535 chustio mONA.

(1) 1092¢ (2) 1292

(3) 1192 {4) 1392

Author of 'Peniyapuranam’
=R Pomet ey

(1) Shekkilar {2y Manikkavasagar
ek soredgrank
(3) Inanasambandhar i4) Appar
o dowegs | sl

[PTO.
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The saint who inspired the foundation of the Vijayanagara Empine
TRt Fgire DU MUNBIN e OUR

(1) Adi Sankara (2) Basava
ualy Bosd o
{3) Ramanuja (4) Vidyaranya
Lo e T
Author of "Humayun-nama’
SESPODTY AT Soooks T .
(1) Abul Fazl {2) Gulbadan Begum
conndf deeeS ‘ o S -
{3} Humayun {4) Fenshta
e Te | Lyt ol

introxduced silver Rupiya into Indian currency,
Tod alhoiras rodo |55 Deriied” el T

i1y Babur (2) Akbar
BRI u%ﬁ:

(3) Shah Jahan i4) Sher Shah
3 maveS 46 3

_ got the Shalimar garden raised.
artarh oyl fhen dhtiods :

(1} Akbar 12y Jahangir
e profil ¢

{3) Babur (4) Shah Jahan
tresh e et

During the rule of . Mughal Empire reached its territorial zenith.

Sre reSnd” fanded ey Jices roripoacd $656.

(1) Shah Jahan (2) Jahangir
gl P zarohb
{3) Akbar 4) Aurangueeh

et Toondel -
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The local ruler whom Vasco Da Gama met on his arnival at Cabicut in May 1498

22 1498 & 4.4 e sEs D Sty Tl Bentintiy Sredaly Iretie
{11 Bhagwanlal {2) Zamonn
iy S g
(3} Rajendran MNayar {4) Sira
Bl raisb Paoeef
The company government gave as licence to its employees o carry on trade
Sl (Eebosies S HEgies oo ShEN0eR 20 enid Swhorm coovh.
il Pﬂlig_ (2) Kabulia (3) Zulaikha {4) Dastak
‘_1.{: RS ey &k
The first railway line opened in India in 1853 was between Bombay and
57EE BEand’ 18538° Dh Raxtied Deo ki loero 8 SoGd DoEiss.
i1y Surat (2) Auvrangabad {3} Thana (4} Do
e s Promrerfs il Solary
Woands Despatch was prepared in the year
A & 56 dan S Boirts Schadss.
{1} 1835 (2) 1850
{3y 1852 (4) 1854
'The girijans, . rebelled against the British rule in the Bengal Bihar areas
Sorres Bt Toord! @05 o5y Stbents 355 Aetons
{1} Bhils (2} Santhals {3) Kukis (4) Koyas
RGO molrus ey §fuoen
Founder of the Ghadar party was
5ol j*é:: oD
(1) Hurnam Singh (2} Amrik Singh
b B haefl 0 2:E Bale
(31 Preetam Singh (4) Lala Hardayal
&5 hoh e SOOI

(PTO.
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106. Author of 'Sacial Contract’ i £ #6018 PP

108.

109,

‘W o o :
(i) Volaire i2) Rousseau

Sgond Erie
(3) Gibbon (4) Toynbee

Aegya ercased
The Quadruple Alliance was signed on ™ 7o ilor 1815 by Great Britain, Austria, Russiaand
1815 S3c0ts 20 orbens fleifed, &) 0 o staks © So4fs ‘el Oerge o ey
&0N0D. |
(1) Prussia 1) lnly

&3 R
(3) Denmark 20 Poland

Sy

The French ruler who abdicated hi-
was :

&4, 18308 &35 S 806 5asesed 5 -,
(1) Louis XIV
1435 orcar

(3) Charles X
105 =28

The French ruler who said, "Mohammie

"Bed Sy, Piigd" seet,
(1) Talleyrand

erdiored
(3) Louis XV

155 erwor

=

i i

- ut fwvour of his nine year old grand son in 18

T S5 ol ety

{24 51 Simon

4 Louis X

Lpvol, Catholic in France"

¢ S Polroihdh
(2} Proudhan

(4) wi']'\"h‘ﬂﬂ 1

ediel 3FDAHS |
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[10. The independence of Greece was recognised in 1829 by the Treaty of

113,

4.

115.

S, 18295° e0ris mmfmmwr@m&m

(1} Adrianople (2) London (3) The Prague {4} Paris
esEairT g oolsS 8 R g

"Bourgecisie” implies

Al ga 5 i.\.ll ﬂfﬂ

(1) Middle class 12} Upper class {3) Anisans {4) Clergy
Dol BN 0y iy S ST SLLHELE

——_ denounced Bismarck as *Prussian Shylock™.
B st el ol odobuarts

{1} Napnlcun 11l (2) Metternich
35 AL natotnE
t3) Louis Philippe {4) Karl Marx
eroar »BE 8 58,3
During the First World War, Italy joined the Alliesin
Tedied E30 ohug B30 ged 209 epireadod® Ly, & Sowh.
(1) December 1914 (2) February 1915
drceS 15914 7 Db 1915
(3} March 1915 (4) May 1915
arby 1915 31915

Al the conference of July 1954, Vietnam was partitioned
27D 19545" e:BA el 38T Daane Juigctednd,

(11 Vienna . (2) Geneva
Ty S

(3} Bemrne (4) Paris
£3En 31‘565 L

The Russian leader who participated at the Camp David in 1959 was
1959¢° sdis oo RaEE” iy oy b
(1) Nicholas (2) Alexander | 13} Molov {(4) Khrushchey

A 13 smost A AT
IPT.O



16,

117.

e

26

CIVICS
(Marks : 15)

According to Aristotle which of the following is the best form of government?

sl efiralio @t He a8 DO dunls Sohn: BT

{1} Democracy
Pyt
{3) Polity
e e

(2) Oligarchy
et 03
{4} Tyranny
B0 Sl

Who believed that the sovereigniy was vested in the General Will?

AMSETRATOETI 65 efdol” dotsD 2 D

(1) Austin
ey

{3) Locke
]

. The author of the book "The Prince' is

O Ry (o Shou

(1) Machiavell:
SrPHand

{3} Aristotle

coqud

The 'POSD CORB' was propounded by
'Faely S godrtedna
(1) Henri Fayol
) ot
{3) Luther Gullick
orih 25

(21 Roussean
e

(4} Hobbes

el

(2) Plato
s

(5]

(4) Green

3

{2) Chester Bamard
236 o

{4) Lyadall Uraick
E’M%&f
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120, The focus of the Behavioural Approach is

G Sy Do, Sy,

(1} On Inter-personal relations in organisations,
SPES S eotgs deeste o

(2} On Actual behaviours of persons and Eroups in nrgm:usaﬂnns
A" Spte DB eyt IS ESES

(3] On decision-making in organisations,
SpHE0" IE DgeeTEte dos

{4) On managerial process in organisations.
Srind” e Bdan Bes

IZ1. The Father of the Public Administration Discipline is
(Febits Jromr o5 Dertrrads
(1} Manu {2) Kautilya {3} Dwight Waldo (4) Woodrow Wilson
30850 Teles « =gy &5 DenS
122. The Cripps Mission came to India
55 Jatito g Seld SO
(1) In January, 1940 (2) In April, 1941 t3) In March, 1942 (4) In June, 1943
23D 194055 Spctbd 194145 gy 1942 & 5 194365
[23. The Head of the Indian Republic is the
Lo O0E ehng
(1) President (2) Vice-Presidemt
S - EDCRRG
(2} Prime Minister {(4) Speaker of the Lok Sabha
124, The Cabinet System of India is based on
BP0 B S ORT 5555 Grasas
(1) American Model (2) British Mode! (3) Canadian Model (4) French Model
B ST ©elh 220y W Sy RO S

[PT.O.
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123, The Governor of 2 Siate can be removed by
T NuCpicio Gulfolndftiam:

(1) Chiet Minister {2) Union Home Minister
By Heoyd o fErey Sood
{3) Prime Minister i4) President
e Boon G"E;‘ﬁ '

126, The Judiciary in India is

OO TRl St
(1) under the Prime Minister 2) under the President
pi adinad” B0 el wfinod’ datnad
-[.3} under the Parliament {4} independent
s ehed’ Goscd ! ApBodaond

| 27. The author of the book "Arthashastrs’ is

bE—TE ol Chaasd
(1) Valmik; i2) Adam Smith (3) Kautilva (4) Manu
LA 3o fdl o Tedasgtis SoRs

| 2%, The Father of the Local Government in India is
5D TUcd’ 2008 Rehe; Dersurd

1y Lord Mayvo {2} Lord Rippon {3} Lord Curzon i4) Lord Wellesley
of Sap ofons of 558 5y

129, The Institution of the District Collactor was created in the year
B SDSU: TEhn DORes 00 DoSEhSNos

(1) 1772 (23 1780 (3) I87T¥ (4) 1880
130, The Chairman of the Planning Commission is
ok shania Janbies
i1) President {2) Prme Minister
nt‘&‘.’:ﬁ: ¥ EGTES oo
(3} Union Finance Minister (4) Vice-President

S el Suog ST




131.

132

133,

134,

F
‘_l

ECONO

[ Mk

The terms 'Micro' and ‘Macro' economics wer
gy Dol '4'-!&;!:' w:ﬁﬁ:ﬁ;&um it
(1} Adam Smith

LSRN i
(3) 1.B. Say

80 %

An indifference curve is
aords Sede
(1) Convex to the origin
Sare DedhPpid SO TN dodn:
(3) Straight line
A0 B doth

“The shape of average fixed cost curve |s

Riieso o e B dod), st

(1) U-shaped
U-esmsay”

(3) L-shaped
L-essmaiinn

Prime costs are known as

DY Seresm

(1) Direct costs - 2

ESiEE Spcren
(3) Fixed costs (

39 Hare

MICS

first 1 wiil |'I}"

-u-: :-?“:}':Jml

1 David Ricardo

wagnar Frigsh
e R, - i

© onchve to the origin

4} Upword sloping

: o0 Godal

' Heclungular hyperbola
L0 SO0 wiSTHoahEn

' %tuecr shaped

=5 geeision

I e rhe d costs

: -,_I-_,.::;o)::’m

| Spocial costs

CNFERE S
rS ﬂm

IPT.O.
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135. Wages paid to the labour are

Elbied Dol Svmes
(1) Fixed costs {2) Marginal cosis
30 Seitreo Edrol Saires
(3} Variable costs {4) Prime costs
D0 Seaires el Seiran

136, NNP-Indirect taxes + Subsidies is
g, — ﬁ‘ﬁﬁhﬁm + Eﬁﬁ:.r.lhm

(1) National Income i2) Personal Income
{3) Disposable Income (4} GDFP
Sg0iPg esoreibiion B4
137. Human Development Index was propounded by
SRR GG DY RETBoIna
(1) Amatya Sen (2) C. Rangarajan
Enly A . Soniore s
(3) Siman Kunets (4} Mehboob-ul-Hag
e Seeded Antrerel wed E
138, Central Sales tax is levied by
Toys w89 35y D0omisd
(1) Stale Governmeni (2} Central Governmeni
O BEhEga To Egbigtio:
(3} Finance Commission (4} Planning Commission
&PE Sojniin T esioma

139, "Bad money drives out good money out of circulation’,

RO ESghn Dogs Tl Sooelteod 883 ey,

{}) Friedman's law 12} Fisher's Law
lj:n!'-.:‘::.'.'n rSo Sy B R
{3) Gresham's law (4) Keynes' Law

Sy s Ry sorgioe 7



140,

141.

142.

143,

L4

Expenditure which creates assels is

eriamlis :“,:,5;3 Spaiton

(1) Revenue Expenditure {2} Capitzl Expenditure
TRl Syokia 7 Tn Sgnhs

(3) Non-plan Expenditure {4} Non Desclopmental Expenditure
e SORGE et

Phillips curve explains the relationship between

»EG) D DelSels; Homor Bupicd

(1) Inflation and unempleyment (2} Inflstion und employment
T S8 HSie S peaos D0 eEiE

(3) Inflation and wages {4} Inflatton and expendinere
ST gyneto bl o] T pgyeaias Bolahy Bpeditn

Which of the following is a method of Qualitative credit control 2

& ol T05° D0 TR 10D Dalose GG 7

(1) Open Market Operations {2) Moral Suasian
wiPGoN 370,05 35 5ores 262 &y

{31 Bank Rarte {4} Variable Reserve Ratio
ergoso Bew RHTOS iy ailds

Green Revelution was first implemented in the states of
B8 D555 ZaotilasSu ke wrions HODD T peons

(1) Kamataka and Kerala {2} Uttar Pradesh and Bihar
Horess HBoloko o B0 SO Sobats daris

(3) Tamil Madu and Maharashtra (4) Punjab and Andhra Pradesh
DT BB BIFTH Sol Sololis eoend

According to 2011 eensus, population of India is
2011 Kerosma @Sondton oo 54 esrer

(1} 1K erores (2) 116 crores (3) 121 crores (4} 126 crores
100 £%x 116 §ex 12] ey 126 Eeys

[PT.0.
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Disguised unemployment in India exists in
w6 Do iy Sadihe Ne cans
(1) Transport Sector (2) Agricultural Ssclor
e doition Sgarell Hoiias
(3) Industry {4) Banking
S0 erpodai
The growth rate target of 11th Five Year Plan was
113 Souag @erds 5yp Ben of piw
(1) 9.0 per cent _ (2) 8.0 percent
9.0 eosa 8.0 wuly
(3] 10.0 per cent {4} 11.0 per ceni
10.0 oo 11.0 rose
Mixed economy refers to
RS oy S s
(1} Market Economy (2) Co-existence public and privaie sector
Sl el sy ety Solatly pentiontive Simdsttos
(3} Socialist Economy (4) Planned Economy
RPROFTES &R BSE Berde e S

According to 2011 Census, the male literacy rate in India is
2011 reresro et g0 Besad’ Sase SRS

(1) 78.00 percent (2) BO.25 per cent {3) 82.14 percent (4) 84.45 percent
78.00 & £80.25 oo B2.14 mivis 84.45 o

Mahalanobis Model iaid emphasis on
LSO S50 51 dod T8 Dogs a0

(1) Agriculwre (2) Small scale Industry
TSI et vl BOT S0
{3} Heavy Industry {4) Irrigation

erd S8 L
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150, The share of Service Sector in the Indian ECONOMy 15
LD D -F_%E *,ﬁa‘.:-‘.i{':-* e Seitan T

(1) 49.0 per cent {2} 48.0 per cent
49.0 o 48.0 mdnw

(3} 50.0 per cent {4} 59.0 per cent
50.0 8 59.0 ot

(PTO.
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